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$ {AaBbCc} $ AaBbCe MR, KBAEFEHS. FRERX
$ \mathrm {AaBbCc} $ AaBbCc Tk, AR BEHXE
$ \mathbf {AaBbCc} $ AaBbCc ik, mE. B
$ \boldsymbol {AaBbCc} $ AaBbCc . fME, mE. BHE
$ \mathtt {AaBbCc} $ AaBbCc ERFE, ERTNRE
$ \mathcal {ABCDEF} $ ABCDEF ik, BTRTRYFPNES. RSN, 57
$ \mathbb {CRQZN} $ CRQZN RBIRHEM (blackboard bold), & FARFIAEFES
$\text {Aa Bb Cc}$ AaBb Cc AEREARFHXF
$\mathrm{d}x$ dx ISOMESHFAS d AIEE
$\operatorname{T}$ T EEF

7. BIFEECEE

HXFE ESE 7
A capital a, cap a, upper case a
a small a, lower case a
y italic capital a, italic cap a
u italic a
A boldface capital a, bold cap a
a boldface a, bold small a
A bold italic cap a
a bold italic small a
2 Gothic capital a
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a Gothic a
o script capital a
script a

twic

BERS.

FE NP IRE & FFIRITFIC (accent), # 8 BLEH AYFERIRC.
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LaTex BERIA FEFE
$x'$ , )
$xA{\prime}$ x *prime
8x''$ x" x double prime
$\overrightarrow{AB}$ AB a vector pointing from 4 to B
$\underline{x}$ X x underline
$\hat{x}$ x x hat
$\bar{x}$ X x bar
$\dot{x}$ X x dot
$\tilde{x}$ X x tilde
$x_1$ X; x subscript i, x sub i
Sx*1i$ i x to the n, x to the nth, x to the n-th power
x x raised to the n-th power

$\ddot{x}$ X x double dot
$xA*$ x x star, x super asterisk
$x\dagger$ xf x dagger
$x\ddagger$ xi x double dagger
${\color{red}x}$ x red x

TS

ZIOBEEAXRNEREFE, = oGHERELENHEFE. b, EEESE (RITEW) =t
EJEI

®9. mEFE, KB
NS LaTeX KB LaTeX TS KRS

a $\alpha$ A SAS alpha | /'zlfs/

B $\beta$ B $BS beta | /'berts/

y $\gamma$ r S\Gamma$ gamma | /'gems/

3 $\delta$ 4 $\Delta$ delta | /'delta/

€ S\epsilon$ E SES epsilon | /'epsila:n/
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¢ S\zeta$ Z $z$ zeta | /'ziito/

n S\eta$ H SHS eta | /'iite/

0 S\theta$ 2] $\Theta$ theta | /'0i:to/

1 S\iota$ I 318 iota | /ar'outa/

K S\kappa$ K SKS$ kappa | /'keepa/

A $\lambda$ A S\Lambda$ lambda | /'lamde/

u S\mu$ M SM$ mu | /mju/

v $\nu$ N SNS nu | /nju/

I S\xi$ = S\Xi$ xi | /ksal/ BY /zaV B, /gzay

0 S\omicron$ o 308 omicron | /'a:mokra:n/

T S\pi$ 11 S$\Pi$ pi | /pav

P $\rho$ P SP$ rho | /rov/

o S\sigma$ z $\Sigma$ sigma | /'sigma/

T $\tau$ T STS tau | /tav/

v $\upsilon$ Y 3SY$ upsilon | /'vpsila:n/

9 $\phi$ @ $\Phi$ phi | /far/

X $\chi$ X $X$ chi | /kav/

v S\psi$ ' S\Psi$ psi | /sar/

w $\omega$ Q $\Omega$ omega | /ouv'mego/

= 10. /FEFE, =
LaTeX LESEM LaTeX R

$\vartheta$ 4 $\varrho$ 0
$\varkappa$ * $\varphi$ ®
S\varpi$ @ S\varepsilon$ &
$\varsigma$ ¢

EHTES

=1 REEATS.

o, BAFERRXS: - FEBHEZE (nonbreaking hyphen). - S (minus

sign). - $EMEIFS (en dash). — KRS (em dash). _ T%I% (underscore). / Bifl
%% (forward slash). \ &#l& (backward slash, backslash, reverse slash). | &
#% (vertical bar, pipe),

x 1L FERTS

LaTex BEHS FEFEE X RIA
$\times$ X multiplies, times EY
$\div$ + divided by BRI
$\otimes$ ® tensor product KEIR
$(S ( open parenthesis, left ERES
parenthesis, open round bracket,
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left round bracket
$)S close parenthesis, right FRFE
) parenthesis, close round
bracket, right round bracket
SIS [ open square bracket, left square | ZA#ES
bracket
$1$ ] close square bracket, right LAIES
square bracket
S\{$ open brace, left brace, open EXES
{ curly bracket, left curly
bracket
S\}$ close brace, right brace, close EXFES
} curly bracket, right curly
bracket
$\pm$ + plus or minus ERS
S$\mp$ T minus or plus AIES
$<$ < less than INF
$\1leq$ < less than or equal to INFE
$\118 < much less than m/NF
$>$ > greater than AXFS
$\geq$ > greater than or equal to AFET
$\gg$ > much greater than mAF
$=$ = equals, is equal to £F
$\equivs = is identical to TEERF
$\approx$ ~ is approximately equal to HET
S\propto$ oc proportional to ELEF
S\partial$ 0 partial derivative "
$\nabla$ \% del, nabla BEET
$\infty$ 0 infinity x5
$\neq$ # does not equal, is not equal to &EF
$\parallel$ Il parallel Fi7
S\perp$ 1 perpendicular to E£EH
$\angle$ / angle RE
$\triangle$ N triangle =
$\square$ O square ;52
S\sim$ - similar B
S\exists$ 3 there exists 7
$\forall$ v for all =
$\subset$ c is proper subset of EF&E
$\subseteq$ c is subset of T&
$\varnothing$ 1%} empty set =K
$\supset$ - is proper superset of HE&E
$\supseteq$ ) is superset of g
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$\cap$ N intersection &
$\cup$ U union H&E
$\in$ € is member of BT
$\notin$ & is not member of TET
S\NS N set of natural numbers BRAHES
$\z$ 7 set of integers BU&ES
$\rightarrow$ - arrow to the right [EESEES
$\leftarrow$ “— arrow to the left 18 ZE B 3k
$\mapsto$ = maps to Rk 5%
S$\implies$ = implies #H
$\uparrow$ T arrow pointing up, upward arrow 5] &3k
$\Uparrow$ N arrow pointing up, upward arrow | EL#ik
$\downarrow$ ! arrow pointing down, downward 1 T &7k
arrow
S\Downarrow$ I arrow pointing down, downward ERN-TES
arrow
$\therefore$ therefore sign FiTIX
$\because$ because sign S|
S\star$ * asterisk, star, pointer 2=
$1$ ! exclamation mark, factorial WS, Kisk
$1 x I$ |x| absolute value of x EXE
$\1floor x \rfloor$ LXJ the floor of X @ FELE
$\1lceil x \rceil$ [x] the ceiling of x o) LEREE
$x!$ x! x factorial S

3 6 H LaTex AT

&

B2~k BT —E AN LaTeX REFAR, BARAGE.
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LaTeX BERIA

$xA{2}-yr {2} = \left(x+y\right)\left(x-y\right)$ x2—y2=(x+y)(x—y)

Sa_{n}x*{n}+a_{n-1}x*{n-1}+\dotsb + a_{2}x {2} +
a_{1}x + a_{0}$

n n—1 2
ax"+a, x" +--+a,x" +ax+a,

S\sum_{k=0}*{n}a_{k}x*{k}$

n
k
2 ax
k=0
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$ ax*{2}+bx+c=0\ (a\neq 8) $

ax* +bx+c=0(a#0)
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LaTeX

S{sart[{nyT{ar{n}})=(a*mh) *{1/n}=a*m/n}=(a" (/n) Mmb=(0Sartl [/ oy _ o — (qiny

{n}1{a}})*{m}$

=(

tfa)”

S\left({\sqrt {1-x*{2}}}\right)*{2}$

(=<)

U A EESREEEEE | ©BK1_Ch3_03.ipynb

LaTeX

S\frac {1}{x+1}+{\frac {1}{x-1}}={\frac {2x}{x*{2}-
1}}$

Sx_{1,2}={\frac {-b\pm {\sqrt {b*{2}-4ac}}}{2a}}$

F 15 IAEXEEGEEEE | ©BK1_Ch3_03.ipynb

LaTeX

$f(x)=ax*{2}+bx+c~~{\text{ with }}~~a,b,c\in
\mathbb {R} ,\ a\neq 8$

f(x)=ax’ +bx+c with a,b,ceR,a#0

ST(x_1, x_2) = x_122 + x_2*2 + 2x_1x_2$

f(x17x2) :x12 +x§ +2xx,

$\log_{b}(xy)=\log_{b}x+\log_{b}y$

log, (xy) =log, x+log, y

S\In(xy)=\1n x+\1n y{\text{ for }} x>0
{\text{ and }} y>0$

In(xy)=Inx+Iny for x>0 and y>0

$f(x)=a\exp \left(-{\frac {(x-
b)*{2}}{2c*{2}}}\right)$

f(x)=aexr>(— (HZ)ZJ
2c

x16. IN=AESER | @ Bk1_Ch3_03.ipynb

LaTeX

S\sin *{2}\theta +\cos *{2}\theta =1$

sin@+cos* 0 =1

S\sin 2\theta =2\sin \theta \cos \theta$

sin260 =2sinfcos O

$\sin(\alpha \pm \beta )=\sin \alpha \cos \beta \pm
\cos \alpha \sin \beta$

sin(ex = ) =sina cos S tcosasin S
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$\tan(\alpha \pm \beta )=\frac {\tan \alpha \pm \tan tan o + tan 3
\beta }{1\mp \tan \alpha \tan \beta }$ tan(a:tﬁn::i;;&;;&;;;;;
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LaTeX LS SN
S\exp(x)=\sum _{k=0}*{\infty }{\frac ER o X
{xM{k}Hk!}y=1+x+{\frac {x*{2}}{2}}+{\frac exp(x):ZF:1+x+?+Z+i+
{xr{3}}{6}}+{\frac {x*{4}}{24}}+\cdots $ k=0
$ \left(\sum _{i=0}*{n}a_{i}\right)\left(\sum n " nn
_{j=0}r{n}b_{j}\right)=\sum _{i=8}*{n}\sum (EZaij{ bszzzz ab,
_{j=8)*{n}a_{i}b_{j}$ = R )R
S\exp(x) =\1lim _{n\to \infty }\left(1+{\frac Y
{x}{n}}I\right)*{n}$ exp(x)=1hn[1+~—j

n—o0 n

S\frac {\mathrm{d}}{\mathrm{d}x} \exp(f(x)) =f'(x) d ,
\exp(f(x))$ aexp(f (x)) = f'(x)exp(f(x))

S\int_{a}{b}f(x) \mathrm {d} x3 [[r(oax

$\int _{-\infty }*{\infty }\exp(-

o 5 _
x*{2})\mathrm{d}x={\sqrt {\mathrm{\pi} }}$ Lmexp(—x )dx-_\ﬂ;

$\int _{-\infty }*{\infty }\int _{- % o . 5 -
\infty }*{\infty } \exp \left({- [ﬂJ:weXp(_(x ty ))dxdy—-ﬂ
\left(x*{2}+y*{2}\right)} \right) {\mathrm{d}x}
{\mathrm{d}y} = \pi$

S\frac {\partial ~{2}f}{\partial 5

xM{2}}=f""'_{xx}=\partial _{xx}f=\partial _{x}*{2}f$ o =~ﬂ£==anf:=aif

${\frac {\partial ~{2}f}{\partial y \partial 62f o(of

x}}={\frac {\partial }{\partial y}}\left({\frac E;é;—=-——[;;—]==/1

{\partial f}{\partial x}}\right)=f"''_{xy}$ yox  Oy\ 0x
B

F 18 MFE 19 BE T —EE AR LaTeX G MRBIBXRFER, BARBTF.
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LaTeX BFERIK
S$\mathbf {a} = {\begin{bmatrix} a_{1} \\ a_{2} \\ a,

a_{3} \end{bmatrix}} = [a_{1}\ a_{2}\

— — T
a_{3}]*{\operatorname {T} }$ a=|a, |=[a a, a,]

as

S\left\|\mathbf {a} \right\|=\sqrt 2, 2, 2
{a_{1}*{2}+a_{2} {2} +a_{3}*{2}}$ ol = Vai +a; +a;
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S\mathbf {a} \cdot \mathbf {b} = a_{1}b_{1} + a'b::alﬁ4‘aﬁb'+aﬂ%
a_{2}b_{2} + a_{3}b_{3}$

S\mathbf {a} \cdot \mathbf {b} =\left\|\mathbf {a} a-br=”a""b"cos€
\right\|\left\|\mathbf {b} \right\|\cos \theta $

S\ [\mathbf {x} \|_{p}=\1left(\sum ., p
~{i=1p{n\left|x_{i}\right|*{p}\right)*{1/p}$ [ xllp:(2|xi|pj
i=l

%10 IAEREENEE | O BK1_Ch3_es. ipynb

34

LaTeX R

S$\mathbf {A} = {\begin{bmatrix} 1 & 2\\ 3 r
& 4 \\ 5 & 6 \end{bmatrix}}$

$\mathbf {A} (a, a, - a
={\begin{bmatrix}a_{11}&a_{12}&\cdots
&a_{1n}\\a_{21}&a_{22}&\cdots A=
&a_{2n}\\\vdots &\vdots &\ddots &\vdots
\\a_{m1}&a_{m2}&\cdots a
&a_{mn}\end{bmatrix}}$

$\left(\mathbf {A} +\mathbf {B} (A+B)T AT+ BT
\right)*{\operatorname {T} }=\mathbf {A}
r{\operatorname {T} }+\mathbf {B}
r{\operatorname {T} }$

S\left(\mathbf {AB} (AB)T —B°A"
\right)*{\operatorname {T} }=\mathbf {B}
r{\operatorname {T} }\mathbf {A}
r{\operatorname {T} }$

$ \left(\mathbf {A} *{\operatorname (AT)fl_(144)T
{T} ¥\right)*{-1}=\1eft(\mathbf {A} *{- N
1}\right)A{\operatorname {T} }$

$\mathbf {u} \otimes \mathbf {v} = u, wy, wuy, uv,
\mathbf {u} \mathbf {v} * {\operatorname "
{T}} = {\begin{bmatrix}u_{1} \\ u_{2} \\ uv=uy' =| [V1 v, v3]:
u_{3} \\ u_{4} \end{bmatrix}} Uy Uy U3y, Uy
{\begin{bmatrix} v_{1}&v_{2}&v_{3} u, Uy, Uy, Uy,
\end{bmatrix}} = {\begin{bmatrix}
u_{1v_{1} & u_{1}v_{2} & u_{1}v_{3} \\
u_{2}v_{1} & u_{2}v_{2} & u_{2}v_{3} \\
u_{3}v_{1} & u_{3}v_{2} & u_{3}v_{3} \\
u_{4}v_{1} & u_{4}v_{2} & u_{4}v_{3}
\end{bmatrix}}$

UV UV, UpVs

$\det {\begin{bmatrix} a & b \\ ¢ & d a b
\end{bmatrix}} = ad-bc$ det e d =ad —bc

e

#20 BEET —EERN LaTeX R GIHEXRER, BARBTES.
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LaTeX BFERIA
P )= B D
S f_{X\vert Y=y}(x)={\frac jky(x,y)
(F G YOG Y LAY () 138 S D=7 0
$\operatorname {var} (X) = \operatorname {E} var(X) = E[ X* ]~ E[XT

\left[X*{2}\right]-\operatorname {E} [X]*{2}$

$\operatorname {var} (aX+bY)=a*{2}\operatorname Var(aX+bY)=a2 Var(X)+b2 var(Y) +2abcov(X,Y)
{var} (X) + b*{2}\operatorname {var} (Y) + 2ab

\operatorname {cov} (X,Y)$

$\operatorname {E} [X]=\int _{- (e
\infty }*{\infty }xf_{X}(x) \operatorname {d}x$ E[)(]—lthj}(x)dx

$ X\sim N(\mu ,\sigma *{2})$ )(NﬂpJQu’oJ)

S\frac {\exp \left(-{\frac 1 Ty
(1}{2}\left ({\mathbf {x} }-{\boldsymbol eXP(—Z(X—ﬂ) z (x—ﬂ)j
{\mu }}\right)*{\mathrm {T} }{\boldsymbol =

{\Sigma }}*{-1}\left({\mathbf {x} }- Jen)' |z

{\boldsymbol {\mu }}\right)\right)}{\sqrt
{(2\pi )*{k}|{\boldsymbol {\Sigma }}|}}$
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